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No credits on the first five problems if your answer has more than 30 words.

What distributions are symmetric about their means?(10%)

1.
2. Which three different statistics can be used to estimate dispersion of a popula ion? (10%)
1. Is there any difference on the information given between daia (X1, X2, .., ¥Xn)and data

(X1-Xbar, X2-Xbar, ..., Xn-Xbar), where Xbar is the average of X757 (10%)

4. Tf there exist outliers, how do yoll estimate mean and variance?(10%)
5. Why dees six sigma means 3.4 ppm in GE? {10%)
& To see if a system in a company is acceptable, how many employets do you need

to ask to have an etror of your estimate of acceptable rate less than 0.097(10%)

7 T 1is the standard normal distribution, Find F(2.4)-F(-1.5)(10%)

Twenty paired samples are obtained for testing means, how do you {get if means

are equal? (10%) Why ? (10%)

g, The following are two distributions of product charactetistics in two production lines, give your
comnents on these two lines. (106%)
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